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over-crypted |

Offsec g 1 2 3 4 5 & 7 g8 &8 A B C D E F ANSI ASCIT
QoQoggon 6l 6C 70 68 €1 €2 €5 74 20 3D 20 22 61 62 €3 64 | alphaket = "abkcd
Q0000010 65 66 €7 68 €9 6L €B 6C €D 6E 6F 70 71 72 73 74 | efghijklmnopgrst
Q0QogozZo 75 Te TT TR TS TA 41 42 43 44 45 46 47 48 49 44 | uvwxyzABCODEFGHIJ
Q0000030 4B 4C 4D 4E 4F 50 51 52 53 54 55 56 57 58 59 54 | ELMHNCPQRSTUVHXEYZ
Q0Qogo4an 31 32 33 34 35 36 37 38 3% 5F 7B 7D 22 OA OR 6D 123456789 _{}" m
Q000g0os0 6l 74 T2 €9 T8 20 3D 20 G5B 5B 35 34 2C 20 35 33 | atrix = [[54, 53
Q00ogoen 2C 20 32 38 2C 20 32 30 2C 20 35 34 2C 20 31 35|, 28, 20, 54, 15
Q00oooTo 2C 20 31 32 2C 20 37 5D 2C QA 20 20 20 20 20 20 , 12, 71,

QQo00080 20 20 20 20 5B 33 32 2C 20 31 34 2C 20 32 34 z2C [3z, 14, 24,
Q000000580 20 35 2C 20 36 33 2C 20 31 32 2C 20 35 30 2C 20 5, 63, 12, 50,
QQ0000A0 35 32 5D 2C 0A& 20 20 20 20 20 20 20 20 20 20 5B | 52], [

Q00000080 36 33 2C 20 35 39 2C 20 34 30 2C 20 31 38 2C 20| &3, 59, 40, 18,
QQo0goco 35 35 2C 20 33 33 2C 20 31 37 2C 20 33 5D 2C OA | 55, 33, 17, 3],
Q00000D0 20 20 20 20 20 20 20 20 20 20 5B 36 33 2C 20 33 [63, 3
QQOO0C0ED 34 2C 20 35 2C 20 34 2C 20 35 36 2C 20 31 30 2C | 4, 5, 4, 56, 10,
Q00000F0 20 35 33 2C 20 31 36 5D 2C 0& 20 20 20 20 20 20 53, 1ls&],
QQo00100 20 20 20 20 5B 33 35 2C 20 34 33 2C 20 34 35 2C [35, 23, 45,
Q00000110 20 35 33 2C 20 31 32 2C 20 34 32 2C 20 33 35 2C 53y 12, 43 035,
QQo00120 20 33 37 5D 2C QA 20 20 20 20 20 20 20 20 20 20 371 -

Q00000130 SB 32 30 2C 20 35 35 2C 20 34 32 2C 20 31 30 2C | [20, 58, 42, 10,
Q0000140 20 34 36 2C 20 35 36 2C 20 31 32 2C 20 36 31 5D 46, 56, 12, &6l1]
Q00000150 2C 0Aa 20 20 20 20 20 20 20 20 20 20 5B 32 36 2C | , [26,
Q0000160 20 33 3% 2C 20 32 37 2C 20 35 39 2C 20 34 34 2C 39, 27, 58, 411,
Q0000170 20 35 34 2C 20 32 33 2C 20 35 36 5D 2C 0A 20 20 54, 23, 58],
Q0000180 20 20 20 20 20 20 20 20 =B 33 32 2C 20 33 31 zC [3z, 31,
Q000001580 20 35 36 2C 20 34 37 2C 20 33 31 2C 20 32 2C 20 56, 4?! 31, 2,
QQ0001a0 32 35 2C 20 34 31 5D 5D O&A OR 63 65 70 €8 65 72 | 29, 41]] cipher
Q00000180 T4 €5 T4 T4 20 3D 20 22 37 4E T 37 TD 64 45 39 text = "THvT}HdIS
Q000001C0 68 44 3% 71 47 €D 50 7D 43 52 5F 35 77 4A 44 64 hD9gGwP}CE_5SwJDd
QQo001Do 6B 6A 34 43 4B T8 €4 34 35 72 6B ©F 31 €3 6A 35 | kj4CExd45rkolcjs
Q000001EQ 31 44 70 48 50 6E 4E 44 €2 SF S5F 45 58 44 6F 74 1DpHPnNDb EXDot
QQO001F0 53 52 43 50 38 5A 43 51 22 0A SRCPBZCAT
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import

(alphabet)

Zn = IntegerModRing(n)

secret [[54, 53, 28, 20, 54, 15, 12, 7],

[32, 14, 24, 5, 63, 12, 50, 52],

[63, 59, 406, 18, 55, 33, 17, 3],

[63, 34, 5, 4, 56, 10, 53, 16],

[35, 43, 45, 53, 12, 42, 35, 37],

[20, 59, 42, 10, 46, 56, 12, 61],

[26, 39, 27, 59, 44, 54, 23, 56],

[32, 31, 56, 47, 31, 2, 29, 41]]

secret matrix(Zn, secret).inverse()

ciphertext

blocks [ciphertext[i : i secret.ncols()] for i in (o, (ciphertext), secret.ncols())]

plaintext

for block in blocks:

decrypted_block = secret * matrix(Zn, [alphabet.find(c) for c in block]).transpose()

plaintext .join(alphabet[ (i[@])] for i in decrypted_block)

print plaintext
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